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The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x8=8
s frarcared fAeepiia es fag

fa) Define indifference curve.
e e sige foa |
(b) Slope of the budget line is positive.
(Write True or False)
T @ U T | (571 = ey foren)

fco When total product is maximum,
marginal product starts declining.
(Write True or False)

ey 35 Teom B =W, AfEF Teowm 2P
2’04 A | (3751 =1 TRy fora)
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(2)

(d) Diminishing MRTS results in isoquants
being convex/concave to the origin.
(Choose the correct option)

PR MRTS ¥ I3 SHERAT (I (FS
o4fs Tea /o@ee = |
(% e A e

(e) State briefly the essence of Say’s law
of market.

T (51 RfET 77 S0 SF Ty P90

() What kind of inflation is caused by
an increase in wages and import
prices?

Wqﬁwumﬁﬂqﬁﬁwﬁs««
TS =07

(g9 In a perfectly competitive market,
average revenue =

(Fiil in the blank)
o eff ST TEe, e EH = ____|
(41T 312 o= F90)

() Adam Smith advocated autarky as
an economic policy.

(Write True or False)

g iy e e 9 Safes T
2o et sfafee | (311 @ frgy fevarn)
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(3)

2. Answer any six of the following questions :
2x6=12
Tod ARSI 2o T i

(a) Give two examples of fixed costs.

&2 e o1 Swrzae fian o

(b) Define expansion path of a firm.

Q3 AfSHT STRRRe 499 e 7 |

() Distinguish between average revenue
and marginal revenue.

T SR W A T TS el foran |

(d) Explain the effect of income change
and price change of a good on the
budget line of a consumer.

TSR W4 @F ¢U{C N RIS TF 96!
AN 79 ARTET S I 40 |

(e) Draw the indifference curves for
perfect  substitutes and  perfect
complements.

e Rew e T cffieme STAl s
CHYT P 911

(/ What is normal profit?
e =rs & 2
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(4)

(g) State and explain the equation of
exchange.

Ry Sead Sy IR W F0

(h) What is the difference between
precautionary motive and speculative
motive of demand for money?

e oM fedel SfeUW WE FEAL
wfSAma e 1< &2

() Briefly state the components of Keynes’
aggregate effective demand.
R SHIS FALP] DI SRR BF TR
91

() What is comparative advantage in
production?

Teom G e & 2

3. Answer any four of the following questions :
5x4=20
o 2PARE R T BifReR e fa

(a) Prove that the marginal rate of
substitution (MRS) between two goods
is equal to the absolute slope of the
indifference curve and also equal to
the ratio of marginal utilities.

o I @ Ry AR Reww afee W
(MRS) T @R S ool e o
o1fes oIS SHSC S |
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() Explain the following properties :  2%x2=5
T (O A 30

(i) Indifference curve slopes from left
to right.

GRS @4 AEFER @ CeEta oo
A |

(i) Two indifference curves cannot
intersect.

o fAaCers R IO IR R |

(c/) When are L-shaped isoquants obtained?
Explain.

L-ogfeq STeARH (@1 (IS T AW 2
g 340 |

(d) State and discuss the law of variable
proportions.

AfRase s RRGE I8 IR S
0

(e) Why is the average revenue curve
under monopoly downward sloping?
Discuss.

Gy IERS 16 SE @9 PR = e
AT 4T |
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(9)

L

(6)

Illustrate the factors that cause
demand-pull inflation.

Sfate TErRfe b T FRCIR I

901

How does Keynes’ theory differ from
the quantity theory as a theory of
demand for money?

o St oy et (@R wEh AT O
o4 T e ?

Discuss the benefits of free
international trade.

T& (IPe AMfaEd JRUIR S #9411

4. Answer any two of the following questions :

10x2=20

@oq 2Cd R e Yo e fi

(@)

(b)

A25/238

Explain consumer’s equilibrium with
indifference curves. Also show that price
effect is the sum-total of income and
substitution effects. 5+5=10

Faers @ Ote CtereR ST e

F | TS @S @ W IOR (R T T
e go”T TR |

Explain in detail the laws of returns
to scale. 10

T MR e RiNGT Regeeis
1 |
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8

() Explain the credit creation process
of commercial banks. How does the
Central Bank influence the capacity of
credit creation by the commercial
banks? 6+4=10

Tffre @ 49 R afEFwes T F40)
@I AT AT @R 91 qR W
i ger ReR 32

(d) Discuss the classical theory of full
employment. Examine Keynes’ critique
of the classical theory. 6+4=10

of fimR CTafde oeor ST #9410
TR ©GHR SRS (IR FHICALAIR
+3r 41

(e) Distinguish between the static and
dynamic gains from trade. Discuss
how trade helps achievement of gains
from consumption and gains from
production. 4+6=10

IR g o afee AeEEd e A4
frgee 39| fAwR RwE ToreR Ae Wi
BT AS TGS 2T I, FCA 41 |
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